Notes- Solving System by Graphing

Classifying Systems of Equations
If a system of equations has at least one solution, it is called consistent.
- If a system has exactly one solution, it is called independent.

- If a system has infinitely many solutions, it is called dependent.
If a system does not have a solution, it is called inconsistent.
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Notes- Solving System by Graphing

~Example -
Without graphing, is the system independent, dependent, or inconsistent?
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{ y-2x=6 Notice, this did not say
By =4x—12 without doing ANY work!
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Example Solve by graphing.

2y=3x-6  y-3x-3
—6x+4y=12 ,%:.a :
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Solution: NO solution

Example Solve by graphing. CHECK your solution.
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—3x+2y=8-y=3x14
1 This means to substitute it back

= 8 —y=——x—4 into BOTH original equations
x+ 2y 2 and make sure they are true

statements.
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—4+-4=-1
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What would be different when solving
a system of inequalities?
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